[image: ]
[image: ]
[bookmark: _GoBack][image: ]
image1.png
7-87. See below:

a. Yes, each side has the same length (+/29 units). See graph below.

b. BD isy=x; AC isy=5-x
c. The slopes are 1 and —1. Therefore the diagonals are perpendicular.

7-88. a: (4.5,3), b: (-3, 1.5), ¢: (1.5,-2)
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7-89. See below:
ay=Ltx+t1s
b. No, the coordinates are not solutions to the equation of the line.
7-90. See below:
a.x=8
b.x=4
7-91. See below:

a. not necessarily congruent

b. congruent (ASA
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c. congruent (HL = or SSS =)
d. not necessarily congruent
7-92. See below:

a. The two equations should have the same slope but a different y-intercept. This forces the lines
to be parallel and not intersect.

b. When solving a system of equations that has no solution, the equations combine to create an
impossible equality, such as 3= 0. However, if students claim that “x and y disappear” when
combining the two equations, you may want to point out that another special case occurs when
the resulting equality is always true, such as 2 = 2. This is the result when the two lines
coincide, creating infinite points of intersection.




